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PART A: Vocabulary

| Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each

sentence. Then mark your answer sheel.

1- Your new spokesperson is very —--— and clearly comfortable speaking in front of
large audiences.
1) impatient 2) willful 3) voluble 4) modish

2- That ring is made from an ——-—-- of minerals; if it were pure gold it would never hold
its shape.
1) occurrence 2) elaboration 3) intervention 4) amalgam

3- Fortunately, the parliament -——-——- the new law that would prohibit companies from
discriminating according to race in their hiring practices.
1) abridged 2) ratified 3) magnified 4) persuaded

4- The teacher did not appreciate the student's ----—- -- and gave him detention.
1) sarcasm 2) advent 3) blunder 4) reverie

5- The police have not yet been able to find the missing child; to all of the searchers, the
child's location is still a great -------—-.

1) fallacy 2) enigma 3) remorse 4) sympathy

6. 1 really feel sad to say that we are now witnessing environmental destruction on an
ﬂﬂﬂﬂﬂ scale,
1) implieit 2) inadvertent 3) articulated 4) unprecedented

7- Ted was severely -----——- by his colleagues for his use of offensive language when
addressinac; the guests.
1) deviate 2) castigated 3) resigned 4) hardened

8- As shrinking military budgets add to economic woes, arms manufacturers are -————
seeking to expand their markets.
1) nocturnally 2) equivocally 3) indecisively 4) aggressively

9- Much to my -—---—, 1 should confess that we don’t have a good indication that women
are actually taking better care of themselves today.
1) indifference 2) verification 3) chagrin 4} jubilance

10- It is to be remembered that living in a ----—-- country is no guarantee you will

necessarily live a long life.

1) prosperous 2) conceptual 3) conceivable 4) long-winded

PART B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best

fits each space. Then mark your answer sheet.

The human question is the big one. (11) ===s=ammn on humans are very thin. Most human
populations that are forced to survive on low-calorie diets are also malnourished and are as
likely (12) --------- from vitamin and mineral deficiencies. (13) -------—— is on the Japanese
island of Okinawa, Walford notes: *The Okinawans have about (14) --------- the calorie intake
of the rest of Japan. They eat mainly fish and vegetables. They have as much as 40 times the
incidence of people (15) --—----- 100. They have less diabetes. tumors and so forth than the rest
of Japan.”
11- 1) The data exist 2) The data whose existence

3) Existing data that are 4) The existing data
12- 1) not to die as prematurely 2) as not to die prematurely

3) so not to prematurely die 4) not to die prematurely as
13- 1) Only one exception to know 2) The only exception to know

3) The only known exception 4) One exception is only known



16-

17-

18-

19-

14- 1) 70 percent of 2) a percentage of 70
3) 70 percent 4) 70 of the percentage
15- 1) in 2) for 3) over 4) with

PART C: Reading Comprehension

| Directions: Read the Sfollowing three passages and choose the best choice (1), (2), (3),

or (4). Then mark it on your answer sheet.

PASSAEG 1:

The Greek language had begun to spread in Iran in the time of Alexander the Great. when
thousands of young aristocrats entered the cavalry formations of his army while soldiers were
incorporated in the infantry. Marriages between Iranian women and Macedonians, many of
whom remained in Iran, the founding of colonies, as well as commerce, administration, and
justice. all contributed to the replacement of Aramaic. which had been the official language of
the replacement Achaemenians, by Greek. The Greek language became in its turn the lingua
franca. and even under the Parthians continued to be taught in the Greek towns. As a result, a
large part of the population of the Plateau became bilingual. like the modern peoples of
Kurdistan or Azerbaijan or the tribes of the Baluchis or Kashgais. The urban and also part of
the rural population of Iran kept up the use of Greek for centuries, even after the fall of the
Seleucid Empire. as is proved by inscriptions on the medals of Parthian kings and also by the
parchment of Avroman in Kurdistan which records in Greek a judgment in a case between two
[ranians. The two inscriptions known on Parthian bas-reliefs are written in Greek, and those of
the first Sassanian kings bear. in addition to Pahlavi-Parthian and Pahlavi-Sassanian. a third
version in Greek. Greek was used for all business transactions from Greece to Bactria, and all
court cases between [ranians and Greeks were dealt with by Greek judges in accordance with
the Greek code. The native people became acquainted with Greek legislation and even adopted
it among themselves.

What does the passage mainly discuss?

1) The use of Greek in ancient Iran

2) The reign of Alexander the Great

3) The influence of the Greek language on Persian

4) The official languages of Iran and Greece

All of the following contributed to the change of the official language in Iran EXCEPT

1) the system of laws 1) business transactions

3) the establishment of colonies 4) Iranians' interest in bilingualism
The word "whom" in line 4 refers to -——--—-—- .

1) women 2) Macedonians 3) marriages 4) lranians
According to the passage, the Greek language --------—----- :

1) was spoken only by members of Iranian military forces

2) was used as a lingua franca like Aramaic

3) became the official language of the Achaemenians

4) had been the official language in Iran until Alexander the Great invaded Iran
It is stated in the passage that legal actions in Iran were —--—--—--——- i

1) planned by Greek judges

2) unknown to the native people

3) based on a combination of [ranian and Greek legislation

4) dealt with in accordance with the inscriptions of the Sassanian kings
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PASSAGE 2:

Juan Rodriguez Cabrillo was a Portuguese-born explorer who is credited with the exploration
of the coast of what is today the state of California. Sketchy military records from the period
show that early in his career he served with the Spanish army from 1520 to 1524 in Spain's
quest for subjugation of the people in what are today Cuba. Mexico, and Guatemala. Little is
known of his activities over the next decades. but apparently he succeeded in rising up through
the ranks of the military: in 1541, he was ordered by Antonio de Mendoza. the Spanish ruler of
Mexico. to explore the western coast of North America. Cabrillo set out in June of 1542 in
command of two ships, the San Salvador and the Victoria; he reached San Diego Bay on
September 28,1542, and claimed the terrain for Spain. The peninsula where he landed is today
named Cabrillo Point in his honor; the area has been established as a national monument and
park. and local residents each year hold a celebration and reenactment of Cabrillo's landing.

From San Diego, Cabrillo continued northward for further exploration of the spectacular
Calitornia coastline. By November 1542, he had reached as far north as San Francisco Bay,
although he missed the entrance of the bay due to a huge storm. Soon after. with the approach
of winter, he veered south and headed back to Mexico. He made it as far south as the Channel
Islands off the coast of what is today Santa Barbara. Cabrillo, who died on San Miguel Island
in the Channel Islands, never made it back to Mexico,

What is the passage mainly about?

1) The life of an explorer 2) The exploration of California

3) Cabrillo's greatest achievement 4) A history of the exploration of the world

The word "subjugation" in paragraph 1 could best be replaced by --——-----—- .

1) order 2) study 3) defeat 4) support

According to the passage, Juan Rodriguez Cabrillo -—-—-—--—- .

1) explored the Channel Islands before his death

2) refused to obey orders given by the ruler of Mexico

3) was the first person to live in the state of California

4) died of natural causes during his exploration of the Americas

According to the passage, in Cabrillo Point -----=-aee-,

1) the local residents put up a statue to Cabrillo

2) people still pay tribute to the first person 1o land there

3) there is a park where the San Salvador and the Victoria are kept

4) Juan Rodriguez Cabrillo claimed money from the Spanish government for the exploration of
San Diego Bay

Which of the following statements is true about Cabrillo according to the passage?

1) He was most active during the 1530's.

2) He had high ranks in the army.

3) He never intended to return to Mexico.

4) He commanded that two ships be built for sea exploration.

PASSAGE 3:

Early in the seventh century Khusraw Il captured Damascus and Jerusalem and advanced to the
very gates of Constantinople. Then the tide turned and the Byzantine Emperor Heraclius
moved across Mesopotamia as far as Ctesiphon. At last Iran and Byzantium signed a peace of
sheer exhaustion. Just then came the Arabs, overrunning Iran and bringing with them the
Muslim religion. The centuries from the Arab conquest to the present day are generally known
as the Islamic period of Iran; they cover almost exactly the same number of years as lay
between the rise of Cyrus and the end of the Sasanian empire.
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Arabia has always been the home of nomads, a Semitic people hostile to foreign invasion
and influence. and in the opening years of the seventh century the peninsula was quiet. Medina
and Mecca were small towns owing their limited prosperity to their positions along a main
caravan route, and Mecca had been for some time the center of pagan cult worship
and a place of pilgrimage. Upon the quiet scene appeared the Prophet Muhammad. born in
570. His great mission was not apparent until he had reached middle age. when the Qoran was
revealed to him. and his religion gained momentum slowly. He made his exodus from Mecca
lo Medina in A.D. 622, the date which later became the Muslim year one. and attained
complete control over the peninsula of Arabia only a few vears before his death in A.D. 632.

It is stated in the passage that in the early 7th century —-—-----—-- ;
1) Khusraw Il and Heraclius attacked Arabia

2) Iranians and Byzantines agreed to convert to Islam

3) Damascus and Jerusalem were conquered by the [ranians

4) the Byzantine emperor succeeded in bending Iran to his will
Aecording to the passage, the Islamic period of Iran - :
1) coincided with the start of the Sasanian empire

2) started when the Arabs conqured Iran

3) refers to the time during which the Arabs invaded Iran

4) refers to the time when Islam became the main religion in Iran
What does paragraph 2 mainly discuss?

1) The Arab conquest of Iran 2) Prophet Muhammad's early life

3) The two important towns in Arabia 4) The peninsula of Arabia and the Arabs
The word "exodus" in paragraph 2 is closest in meaning to --—--——-— ;

1) experience 2) generation 3) relationship 4) emigration

Which of the following statements is NOT true about Arabia according to the passage?
1) Both believers and atheists lived in some part of Arabia.

2) The inhabitants of Arabia resisted the threat of foreign force.

3) The inhabitants of Arabia were people who tended to move from place to place.

4) Arabia was at war with neighboring regions early in the 7th century.
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1 3 31 4 61 2 91 1 121 3
2 4 32 1 62 1 92 2 122 4
3 2 33 1 63 2 93 3 123 2
4 1 34 2 64 1 94 2 124 2
5 2 35 3 65 2 95 4 125 3
6 4 36 3 66 3 96 1 126 3
7 2 37 1 67 4 97 4 127 1
8 4 38 4 68 1 98 3 128 3
9 3 39 2 69 3 99 2 129 1
10 1 40 1 70 2 100 1 130 3
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15 3 45 1 75 4 105 3 135 1
16 1 46 4 76 2 106 4 136 2
17 4 47 1 77 3 107 3 137 4
18 2 48 2 78 4 108 4 138 3
19 3 49 2 79 3 109 1 139 1
20 1 50 4 80 4 110 2 140 4
21 1 51 3 81 1 111 4 141 3
22 3 52 4 82 3 112 1 142 4
23 1 53 3 83 2 113 1 143 3
24 2 54 1 84 4 114 4 144 4
25 2 55 2 85 3 115 2 145 4
26 3 56 4 86 4 116 1 146 2
27 2 57 1 87 2 117 3 147 2
28 4 58 1 88 1 118 1 148 4
29 4 59 4 89 2 119 4 149 1
30 4 60 3 90 4 120 4 150 4
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